Adda

e

MPTET

Previous Year Paper

10 Mar 2022 Shift 1

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Addai2y47 Eooale Play

7/27/22, 3:17 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

MPPEB 2022

TET-Reports

Testdate 10 Mar 2022 v
TestSlot Shift 1 v

Submit

Q.No: 1 T fRieor Bt FHem & Fig § | HIF-1 S fig Tet 82

A G, S

B Tl THSAT

C ferae, siftraafaa
D lEEkEIE]

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 2 YT & MTHTT F & SIG AU WU §HT MR

A BT Y U SHipel F YR WR = & SffruTas! F far-fmsf w=m
B P! B TS PR &

o S P AP TE BT

D SHiBSt BT G:- T: &0 HRAT

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 3 YI¥ & Taq 3R YD Hedidh BT I 8-

A = Bt dE B Ufehar $t THFE) Sugad Rigor-3Rr wfgear o
B TR H&T § Wad B o aed e

C =} B APl $T UG AT

D i B IR P fafg HAT

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 4 4 & ¥ TR 3R S=RU & g 3l fafty guanft B
A RS TR R
B FH TR R

C eIy TR W
D RS ¥R ®
Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 5 = & 7y YR 1 & YR I WY BIH-IT 82
A [ECERIE G

B 3 T
C i e Tl e
D oI T

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 6 = # ¥ 5t et gofeT wa #e gfs o1 & g o9 H fafy Swge &2
A Ja-fafy
B g Ry
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C BGASGIREID)
D SrTeoe fafy

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 7 TRYM ¥ 59 sifede H Fg1 1 § 6 T Bt Iorymor = oiR iy Iamrt gft 2

A 350
B 343
C 330
D 320

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 8 4 & § e & yuifad A aTel/ard SRS HH-9/A § ?
A Faa st T

B Faa Rl e

C Pad D T

D e g, g wrawh, Frf wewh

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 9 URGR Uep WeA & ?

A Soraie e 1

B TR fRal &1

C Faa siuaie fRiem &1

D e Rigm Td g Rra 1
Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 10 HTYT-3f6f 3R HTT-3iRrTT ¥ oy & SF-1 o uet 7 22

A Tikplarep AT LTS 3o IR WIS 31T &I GUIfAd B aTeT Hewqy SRS &
B UrwT-3rm & ot oft SrgaTe &1 eRT Y fera S

C UTT-3(o Tee 3R wW@rifdes gar 8 STafs UTeT-31fRRT vyl giar @

D UTT-3rof & AR Fereqrmy arquTeT & St @

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 11 Urufiis TR W 39 FHI-al, Hiaarsh 7 5y ue o a9 weT Ae@yul A 872
A geail, e, uef H qlgvid

B T SUCRIEE

C TRifSd JES! B FeIal, B T BT UG Y

D PRI, BiIaTsl PT B FEn 3 e B =R ¥ TG A

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 12 ‘HUC &1 HAGR’ HId ad H dlell HeTad Agifbd werad § I HiH-31 872

A T AR T Bt
B TS G G P -
C st & g1y g 31, T B ug
D greT ugrs el gfgan

Correct Ans : A
Subject : Hindi Bhasha 01
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Q.No: 13 faar e &) Ul SR Hnefiie wensll % BEl ® R Raer 81
A gefian

B 3 HYT

c e

D i

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 14 HGHTST Rierr &1 32d T8 €

A TS I
B PINATHS I
C GoHIETH e
D ERERIGCH

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:
&= 2 3T U Teiw #Y ugeR g T URAl & 9ed Sfud SR ald faded o1 997 Sifon-

I T 9gd F T TH Y A- B F 93, TR YU BT 3= od §U1 30 T & WY Sis-WY Ft 7wl St S 4U F @ 98 BW 3 qus gt R T8 R 47 9% o F 915
e W et o1 srear forg 89 @, Sig-¥gu Bt 81 § Rive a1 $F g1 SIS BT 3 $SF H g1 UHSA U WU P 918 0% WF T ¥ WU & R 57 W 7@ & SR
TR F iR 7% g9 IH1 $8 B IR B F e uikaiRe fewr & gt 3 fam & I el W, Fet 4u oo™ R arg & ar R & o, <8 fosrex @m & 8r-a8 7 9 fraa €
& Ot gU A1 301 T T I T b §aT &Y 81 B ke AT ¥ Ugar ff GiRwa ol Wpet sedt & b g gy srenfiwrel & e W ufddas gia o oo &Y U &1
T 8 § 79 7 W B A1 3 T I Ful V, WU P B W ORI Iad U A S99 SIG-198R & AER A & A0aH Fre IR 7 alt- aedr-ase! AeH # Us 9y |
3! 31 7 AT & SR B b & agRTal P UwRar gHA a2t e aTelt AT Bl A ST SRITA SRART AT ALY, FET AL S FhaT| W HEAISH B geld-ggrd gu e
HT A UIST S5 bl U1 - TSH-ASH! BT HaH H 361 TP Ty T 3| fham € a1 SIS 39 $Hh Igumun Tt 1id & R & a1 Hufde i I3d i & I F U5 &t @S
B gF 3 iR 4 & cea at A1 4 F) TEAd §U U G Y 3EHE I I AT SFATE Thl o arett fRuferdr oft 3% wad e @t off o e &t 18 Tt uRT waTe T @t aRE I Bl
T 9 g ol

AP g H RR IR AT 98 AHT ol 307 U W AUSTT I gU 7; AUSIT i Uio SU& G gU Yol W <P g3 §; 3 sl 131 B IS BEd | o g8 ¢; 98 39 &
AR-Te O T BT T F oref 7T T ¥ BB R A FA O I S T I TATR IR g IR U fpn 5t I @l o 6 U SR, 7 [l oik o B A9 8, 3 g2 RR
Y G e AR [ V| TSP $ U THT WRGR UT| I8 I F 1Y 1 &R BIS ¥ Ber 407 oft g9t & Fg = A1 argan o1l U 3R Yol & i gat sl 15 3 NEs BEd &)
I U e A gt fam iR fonat et & Wit Y a1 o | e o Wi % O ot IRWR T R ST SUB! i H U dRE P! §SSTeC $I 34 6T U1l ASH B A b e
IR a1 S6F T B+ Iguiwen & IR 7 sy e ¥ a1 WA o1 v faeT Sl T AR $RA @ | 2 98 3o IR 96 1 9IR IgadbeH! HRd g gaT wis! Bl g& Tl
3d PR SN F 342 I ek Wee B T V| a1 I Ul g3 3§ WIS giar § e fan mam B1 gt oiwify 81 B v did LY @1 Afp ga1 A ) WeweTee B4
A BUGE Bl = B |

Q.No: 15 Iudad T F SR, ‘Hifed & Teury I 7 aie § ?

A TgTEE Bl

B Ue & fer FIaSIEE Bl

c it Y A Bt TRE Weaaree g
D ARG IR GRS

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

e R 3T U Y @Y ugeR U8 T U & 9ed 3R SRk aTd fawed &7 Tu Bifong-

I IS 95 I TN TH 1Y A- A & 88, T 40 BT 3 A U1 30 IR & 1Y Ng-Xq0 F Tl gt 917 40 & U 98 T 1 duw gt | 55 R yU 9% o1 & 915
e R At &1 srear R 89 TTaT, Sia-Iqu @1 BT § Rme od| & g1 S BT B $8F $1 81 UHSd g KU I 9IS db W MY I TU & R 7 R ga@7 & SR
TR F iR TF 99 ! 38 &I TR BP4 F A Tikaies w1 & gt 7 e & I el W, Tet 47 o= R a9 & 9 R 7 o, 8 e em & 8r-a8 7 9 faa €
o Tt BT A1 301 TS TP I T fob 54T &I 81 B ke oA & Ugarn ff GRwa o1l Wt seat & fhaw g gg srenfiwrel & e iR ufddas gl o oo & U &1
fowar 81 | war 78 w1 @ A1t 7 9 Pl F, WU B B4 G AR A Iad T A 39 Slg-fIgR & fAgR #9 & A0 B IR ea ailt- deel-ase! AaH § s 9y 7
I8! a1 T AT & IR B b &) Slevial Bt U gy arelt 2| SieR arelt SiarSt i 4 IHBT SRS SRERT AT S, BT T o Yobdl| WR AN B gerd-gend gv Haw
BT A UIST S5 gl U1 - TSH-ASH! BT AgH W J6-1 U Ty WA 31 fhaa € a1 SIS 39 oHh Igumon Tt 1id & R & a1 Hufee 1o I8d i & I F U &t TS
B gF 3 iR 4 & oo a7t A1 4 F) TEAd §U U G U SRS Ie A AT SFATE Thl o arett Rufarar oft 3% aad e At ot fob e @t s it uRT waTe T &t dRE I Bt
T 9 g Wl

A e F RR [ del 98 AT il 307 U W Auely 1@ §U 7; Aueiy 1 Ui 39 42 gU Yol W el g3 §; 3 sig Wil & fiius BEd 1R oH g8 8; 98 a9 &
AR-TAS T+ T B T F orf Il T@T ¥ BB R A FA O R Sl T A ATIR IR g WA U b 5t A @l o o U SR, 9 el oik e @ 919 8, g g2 RR
IS G AR AR R 1 TSH S U THY WRQR UT| G I & 1Y H1 R B F Ber &1 ff Tt # Fg FR A e o1l 9 3R el & dT Gelt dig T ot R wied Bt
I TS e F gt 3 iR ot et & Wil Y a1 o | qHa o Wi % O ot IRR T R ISl SUB! 3 H U dRE BT §SaSTEC DI 34 QT U1l ASSH B A b WS
IR T Y| a1 SEF T B+ Iguiwen & IR 7 e faan ¥ a1 wiE o1 v faen Sl W RAgR A @ § 2 98 I3 IR 96 1 SR IgadeH! HRd gER gaT Sis! Bl g&@ Tl
3d hR ITUTON F 342 I R Wee B9 T V| SfbeAT I Tl g 3§ WIS gfvan § B fmn man B1 It owify 81 B v did LY @1 AP gar A &) WeseTee H19
I HUYEK Bl AT BR
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Q.No: 16 IUYad TN F TIR ‘g4l H! a1 P RE UgIHAT FT FfRpa o ?

A Fait SR vl @1 51 T-u w8 |
B Igi 5t UHR 3 IS gar T o

c TEA $S TH A T

D Y 954 O IS @ W

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:
&= 2 3T U Teiw Y ugeR g T URAl & 9ed Sfud SR ald faded &1 997 Sifon-

I T 9gd F T TS Y A- B F 95, TR YU BT 3= od §U1 30 T & WY Sis-WY $t 7wl S D17 94U F @ 98 BW 3 qus gt R T8 R 47 9% o F 915
e W et o1 srear fore 89 @, Sis-¥gu Bt BT § Rive a1 $F g1 SIS BT 3 $SF $1 g UHSA U WU P 918 0% WE T ¥ WU & R 57 W 7@ & SR
TR F iR TF g9 IH1 $8 B IR B F e uilkaiRes fewr & gt 3 fam & I Rl W, Fet 4u oo™ R arg & 9y R @ o, <8 fosrex @m & 8r-a8 7 9 fraa €
& Tt gU A1 301 T T I T b §aT HY 81 B ke AT ¥ Ugarn ff GiRwa ol Wt sedl & fhan g gy srenfiwred & R W ufdas gl o oo &Y U &1
R 8 § 791 7 W B A1 T T 9 Ful V, WU B B W EGR I Iad TP A 39 SIG-198R & fAER A & A0aH Fre R 7 alt- aedr-ase! AeH s 9y |7
3! 1 7 AT & SR B b & agRTal B Uar gHA gt 2Rt e aTelt SaT B A ST SRITA SRART AT ALY, FET AL S FohaTl W AEAISH BT gerd-ggrd gu e
PT TS UIST S5 bl 4T - TSH-ASH! BT AaH H 361 TP Ty T 31 fhaa € a1 SIS 39 $Hh Igumun Tt 1id & R & a1 Hufee i I3d i & I F U &t TS
B gF Y iR 4 e a7t A1 4 &) TEAd §U U G Y 3EHE Ie I AT 3FATE Th T I arelt Ruferat oft 3% wad e At off o e &t 18 Tt uRT weTe T @t aRE I Bt
T 9 g Wl

e e & RR Twebr del a8 AT Sl 307 U TR Auely T8 gU §; Auerd &1 o I8P 48 §U Yol W Rl g8 ¢; 3@ dg #i 1 Neluw brea R ol g5 8; a8 38 &
AR-Te O T B T F oref 7T T ¥ BB R A FA O I S T I TR IR g WA U b 5t I @l o o U SR, 7 [l ok o B A9 8, g g2 RR
IS G AR AR R 1 TSF S U TG WRQR AT| 9 I & Y HT R B F Ber &1 f Tt F g FR A gt o1l 9 3R gedl & d gelt dig 1 o Rhw wied B
I U e A gt fam iR forat et & Wit Y a1 o | e o Wi % O 4 IRWR T R ISl SUB! 3 H U dRE P! §SaSTeC B 34 G U1l ASH B A b e
IR A Y| 1 S6F T B+ Iguiwen & IR 7 s e ¥ a1 wiE &1 v e Sl T AR $RA @ § 2 98 3o IR 96 1 3R dgadeH! HRd g gaT wis! Bl g@ Tl
3d SR SN F 342 IG& R Wee B T V| e I Ul g 3§ WIS gfar # e fan man B1 gt 9wify 81 B v did LY @1 AP ga1 A ) WeaeTee B4
A BUTGE Bl =T B |

Q.No: 17 IUdad T F IR, el I e We H Fan Tl o 4 2
A yu &1 R g @

B WHIRI Y
c BAREAY
D D! VR T A

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

e R 3T U Y @Y ugeR U8 T U & 9ed 3R SRk aTd fawed &1 T Bifeng-

I IS 95 I TN TH T A- A & 88, T 40 BT 3 A U1 30 A & 1Y Ng-Xq0 F Tl gt 917 40 & U 98 T 1 quw gat At $5 R yU 9% o1 & 915
e R At &1 sreur R 89 e, Sia-Iqu @ BT § Rme od| & a1 S BT Bl $8F $1 81 UhSd gU KU I 9IS db Wb MY I TU & R 7 R Ia@ & SR
TR F iR 76 79 o1 38 I TR BPA F A Tikaie w1 & gt 3 e & I el R, Tet 47 o= R a9 & 9 R @ o, <8 e m & 8r-38 7 9 faa €
o Tt BT A1 3a1 TS TP I AT b 54T &1 81 B ke oA & Ugarn ff GiRwa o1l Wt seat & o g gg srenfiwrel & e iR ufddas gl o oo & U &1
fowgr 8 | o 78 w1 @ A1t 7 9 Bl V, WU Bt B4 G AR A Iad T A 39 Slg-fIR & f[AER #9 & A0aH B IR e ailt- dewl-ase! AaH s 9y |7
I8! faT T AT & IR B b &) Slevial Bt UmadT gy arelt 2| SieR arelt SimarS i IHBT SR SRERT T S, Bl T o Yabdl| WR AHISH B gerd-gend gu MW
BT IO AIST 9 T U1 - TSH-ASH! 1 HaM § 961 T Y 71 3| e & a1 Siis 39 $H- Iguiyon w4t i F Rt & 918 Holerg g1 Iod SR $T I 4 U6 o) @9
B gF 3 iR 4 & oo a7t A1 4 F) TEAd §U U G Y SRS Ie I AT SFATE ThT o arelt Ruferar oft 3% wad e At ot fob e &t s it 4R waTS T @t aRE I Bt
o 9 us 9|

Afp e H RR [ del 98 AT Sl 307 U W Auely @ §U 7; Aueiy $1 Ui 39 42 U Yol W el g3 §; 3 sig Wil & fiiuh ®BEd iR o g8 8; 98 a9 &
A-TAe T+ T B T F oref 7T T@T ¥ BB R A A O I Sl T A ATIR IR g WA U b 5t A @l o o U SR, 9 el oik e @t 91 8, g g2 RR
IS G AR AR R 1 TSF S U THY WRQR UT| G I &S TNy HT R B F Ber &1 ff Tt # Fg SR A g o1l U 3R el & i gelt dig 1 o R wied Bt
I TS e F gt 3 iR st et & Wit Y a1 o | qHe o Wi & O o IRR T R ST SUB! 3 H U dRE BT §SASTEC DI 37 QT U1l ASSH B A b WS
IR a1 a1 SHF T BT+ Iguiwen & IR 3 e faar ¥ a1 wiE o1 v fae Sl T AR $RA @ R 2 98 I8 IR 36 1 SR IgadeH! HRd gER gaT Sis! Bl g@ Tl
3d PR ITTON F 342 IGP R Wee B T A Sfbe1 I Tl g 3§ WIS gfvan # e fmn mam B1 It owify 81 B v did LY @1 AP gar A &) WeaeTee F19
I HUYEE Bl AT B

Q.No: 18 IUY TR & SHJER, WU &I [t <laR & T ofaTet 31 2

A Tt o @ A A B Wy

B ASHI-ASH! HeH § TP Y 7 83|

C P15 ot Wy F et farR F 71y 7 MY
D P SR §10 4|
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Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

= AR 3T U TN @Y ugeR 0E T U & 9ed IR SRk aTd fAwed &1 e Sifon-

I A 9gd I TN TF 1Y A- A H 98, T 40 BT 3 Ad U1 20 R & 1Y NGg-Xq0 P Tl gt D17 40 & U 98 T 1 duws gt At $% R yU 9% o1 & 915
03 W el 1 ear R 819 @I, sig-5u B o § e 3M1d| B2 gal SiS B P! G855 B 81U UHSd §U WU B oIg b e 31T I WU & ek =71 R =Teq & SR
TR F iR T 99 Io! 38 B! IR BP1 $ A TiRkaie w1 & It 7 fa & I w6 |, T8t 47 o= [ a9 & 9 R @ o6, 8 oo em & 8re-98 7 9 feaq g
s WA gU A1 I $F TS WY AT {5 541 I g1 DY Re 1eRT ¥ Ugar1 o Gfwa o11 Tt seall & fov €t g sremfierell & fexnfdsr w ufddag e ot oo &1 yu &1
e 89 ¥ g e W R A1 ft 7 I FEl , WU B B A faR I Iocdt TF oS I¥ Ng-fIER F R FA F Ahaw wre AR FA - aewr-aset fieH ¥ e a T
3! 1 1 a1 & IR B fare & SleRral Y Tear guA gt 2t e aTelt siaTet Y o ST SYRITA SRART AT ALY, FHET AL S Fhall| W HEAISH HY geld-ggrd gu A
BT IO ATST 9ad GPT UT - TSH-ASH! Bl HaM H 961 T Y H1 5| e &1 a1 Siis 39 H- IuINun U 1d F Rt & 918 HUieg 51 I6d 3R $T I 4 U6 o @9
B g% A 3R 4 & cgar @t 31 4 € Tad gU TP g § MM UT O AT 3FEIE Th]1 o ardt fRufea off 3 o A @t off i e @) B it uR vate T B @R 3% Bt
o 9 gg ol

A Me & RR TGS AT 98 TS of 304 I TR AUSTT @ §U 8; ey @1 §is 35% 4 §U Yol W P g8 8; 3@ sig 73l &) N Bead R o g5 8; g R &
TAR-AE T TR Y T F 31 7T T ¥ BT R A A I X@ g T 9§ FIWieR IR g A U e vl e @t o o U 9, Te frddt ok e 91 ®, g R RR
I G AR AR R A1 TSP B UTY TG WRQ UT| T8 I S Y H1 R BIe F Bt &1 H wfadt # Fg FR O I1edl ATl 0T SR el & 9 Gt dig W o NS Bied Bl
I TS o F ger 3 oiR st et & Wit ) a1 o | qHE o Wi & O ot RR o7 R TS @l SUB! 3 H UP dRE B! §SASTEC DI 37 QT ATl ASH B A b e
IR Ty Y| T 39 T Y o Iguiven & R A oy faar & an @i @1 99 R S T IER FRA @0 R 2 98 I R 96 M1 3R Tedmad! IR guR gaT Siiel Bl G& Tl
S TR I & 34 IuF iR Wee g T V| G I Weld g I WIS g H e R mar B1 g5t omiify §1 P T Sd A2 61 Al ga1 B 3 WesaTse &I 9
I HUYEt Bl 91 B

Q.No: 19 Iudad TN F 3R, 3T HUA B 90 BIoTu-

A AU aTeT AT W F WY BT &R B J BieT &y off Jfoat & e B A1 argan ol

B U P el HaR A Sodl T A I Sig-TER F AeR o & FHaw ore SR 7 @il deo-ass! deM § th Iy T 931
c BT AUCIT I TSP B Tl gorr 75 32 g gfhvan & B R 101 B1 Tst w5 wifd 31

D el g & fran @ Iug sremfiwTel & REIAEY R iides e ot ot Bl yu BT R R Y s AT W A

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:
e F2 3T U T #Y Uge I T URAl & 9ed STUd IR ald [dded &1 99 Bife-

I A 9gd I AN TF 1Y A- A & §3, T 40 BT 3= A U1 2ad R & 1Y NGg-X0 $ awalt Bt BT 40 & U 98 T &l qus gt | $8 R yU 9% o & 91
e R Hifedt o1 seur o 89 TaT, Sla-Igu &1 BT § Rme ofid| &% gd1 s BT &1 $8& &1 81 UHSd g WU &I I8 de Wb MU I TU & R 71 R 907 & SRt
IR & iR TF I gH! 68 BT IR oA & o TRae 5 & gt 3 AeH & I el W, 95T 4u o9 Q¥ a1 F 9 R 6 A, & fFerer @m & Be-a8 7 o fbaa &
e WId gU A1 I $F TH WY T {6 a1 1 g1 B Re MeRT ¥ Ugar1 ot GiRwa oT1 Tt seal & fov €t ag sremfierell & faxnfdsr w dfddag e ot oo &1 yu &1
R R & war A w1 R A1 At 7 9 $el ¥, TU B B A AR I Isedl U SHTaT! I dg-[AgR F AER B & A0gH wrie MR $ @ h- dea-asd! A H Th 91y 7
IS 1 1 A1 & IR B fave &1 GlgRral Y Uear gHA arelt 2Rt e arelt ofraTet Bl 1 3T ST SRART AT ALY, FHET ALl ot ohall| W HEHAISH HY geld-ggra gu Faw
BT AT UIST Tad IHT AT - ASH-ASH! BT HaH H 931 T T 71 31 e & gar Sie 39 $w Squimon &t fid & Rt & a1a Holeg Sl Sa3d 3R H T 3 U6d & @9
B g% 4 3R 4 & egar ait A1 4 € egdd gU U g § MM 9e S IT g Thl o arell fRufdat off 3w ke @t off b frem @) P et uRy ware T B @R S Bl
o 9 gg |

A T & RR Tgebx dleT a8 TS St 307 ¢ TR uely 1@ gU §; ey & o 36 1 §U 4ol W i@l g8 §; 3@ dig il 1 fiw pRa Rofi g3 3; e W &
AT ST TR Y FA F oref AT T B 1 FHIBT R F A O W dleg HA W fATIR AR U WA wp b s e @l ot i uep 9R, 7% fnlt ok g @t a1 §, gl e RR
IS G T AR g A TSF S U GHT WRYY A1 T§ WA & W BT §R IS Y et 01 Wt Ifadt # Hg w1 =g o1l Ue 3R Yot & fa Geolt dig Hal o s wed &
I T oo @ gt fam SR et el @ i Y a1 o | g o 9 % O ot IRER U7 R Al SYB! 3 H U dRE P! gSSIET $I 3& T U1l AP B A b Wrde
I a1y e | R 39 77 HY oft Iguivon & AR F iy fam § a1 wifE &1 7 g Sl W fAgR A @ R 2 98 96 IR 96 T SR TgadheH HRd guk gal Siel dY G- @l
S SHR IGUION & 31f I iR W §9 T A1 GG 3§ Welld g I8 WS gfan # e fmm e B1 Tgt Siifa 81 P $© &I Y e Qb a1 7T Bl WewaTge B
T Hofuet & a1 HR 3|

Q.No: 20 Iuad TR F IFIER, ASH A U foas o 1 ger faar ur?

A T B IS

B w3 @t fidew wra
C lISRIRS T

D Y & Bl

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

e 2 3 7Tu TeiY Y ugeR O U URAl & Hed STd SR ard f[aded &1 997 Sifen-
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I IS 95 I TN TF 1Y A- A & §8, T 40 BT 3= Ad U1 Tad A & 1Y Ng-Xq0 $ T gt 917 40 & U 98 T 1 duws gt | $% R yU 9% o1 & 916
e R Hifedt o1 sreur R 89 e, Sia-Iqu @1 BT § Rme od| &3 a1 S BT B $8F $1 81 UHSd g KU $I 98 d W MY I TU & R 7 R g7 & HROr
TR F iR T 99 o1 38 &I TR B $ A TiRaie w1 & It 7 e & I e |, Jet 47 o= [ a9 & 9 R @ o6, 8 e F & 8r-38 7 9 feaq g
oo Tt U A1 301 TS TP I AT b 54T &I 81 B ke oA & Tgar f GRopa o1l Wpeht sedl & o g gig sremfidred & R W ufddas gl f oo & oy &1
fowgr 8 | T 781 w1 @ A1 7 9 Pl F, WU B B A EaR A Iod T A 39 Slg-fIgR & AER 9 & A0 e e IR a9 aift- dewr-ase! A § e 9y |
I3 1 1 a1 & IR B fae &) GleRral Y Uear guA et 2t e aTelt SiaTet bl A ST SR SRART AT ALY, FHET AL S Fehall| W HEAISH HY geld-ggrd gu A
BT IO ATST 9ad T UT - TSH-ASH! I HaM § 961 T Y H1 5| e &1 a1 Sits 39 $H- Iuiyun 4t 1d F Rt & 918 BUierg g1 364 3R $T I 4 U6 o @9
B g% A 3R 4 & cgar @it 31 4 € Tad gU TP g § 3EFE UT W T 3FEIE Th]1 o ardl fRufeal off 3w A @t off i Frem @t B it uRy vate T B @R 3% Bt
T 99 ol

Qe Mg § RR T del 98 el Sl 307 0 )R duely 3@ §U §; Aueiu 3t s 39 2 §U gedl W el g8 §; i@ dig #41 @) e wree R o g3 8; a8 32 &
A-TAS ST+ T B T F orf 7T T@T ¥ BB R A A O R e A A ATIR R g WA U fopan 5t A @l o o U SR, 9 el oik o @t 91 B, g g2 RR
I G AR AR R A1 TSP S U TG WRQR UT| T8 I & MY HT e BIe F Ber &1 H Tt 7 Fg SR O et ATl 9T 3R el & 99 Gelt dig T of NS Bed Bt
I TS o F ger 3 iR st et & Wit Y a1 o e o Wi & O off IRR o7 R TSdT SUB! 3 H U dRE BT §SaSTEC DI 37 5T ATl ASH B A b S
IR Ty LY T S T Y o Iguivon & R A oy faar & a1 @i @1 99 R Sl T IR FRA @ R 2 98 I R 96 T 3R Tedmad! IR guR gaT Siiel B G Tl
S TR IUON & 342 IqF iR e g T V| G I Welld g I WIS g H b Rz mar B g5t omiify B1 P o Sa AT e1 Al ga1 7 3 WesaTse Bl 9
I HUYET Bl AT B

Q.No: 21 1 & 9 forw wreg &1 WA Sugad e & 8T fopam g2

A Faaaee
B ESASES
(o) RELEIR
D TEADGH!

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:
e 2 U U e #Y Uge O T URAl & 9ed STd SR ald f[aded &1 997 Bifen-

I A 9gd F AN TF 1Y A- AeH & 93, T 40 BT < A U1 T R & 1Y NGg-¥q0 P awalt gt ST 40 & U 98 o &l du gt At $8 R yU 9% o & 918
e W el 1 sear o 89 T, Sig-Xgu B 811 § Riwe a1 $E gaT e B 3 58% $1 g UHSd U WU B 918 9% IS MY ¥ WU & R 51 R I09 & SR
RR F iR T T9 IH1 33 B IR B & forg TiRaRe e & Tl 7 HaM & 97 el |, 6t 4O omn R a9 & g R W@ o, adf foomes em & Sie-a3 7 91 e &
= WA gU A1 31 $ TP WY U7 {5 541 I 51 B RE 31eHT ¥ Tea1 ot GRpa U7l Tpeht s=af & fba €t G sramfierell & RRndw W dfddag giex ot v &1 yu &
o 89 & T g w1 @ A1 At 7 9 o5l ¥, |U B B A AR I Iadl U A I dg-fAgR & fAER HA F ALgH wre MR H @ lt- dea-dasdt A § U 91y 7
31 {31 7 a1a & IaRd B e €1 SleRial @t THRar g arelt &t CleR arelt STaTe! 1 o STHT SR SRR 1 TS, FET el o Yohdll W WIS B ger-ggid gu e
BT TO AIST T&d BT AT - TSH-ASH! BT HeM H 361 U T A1 71 fba € a1 Sie 59 b1 Iguiyon w4t i F it & §1g Hoierg §1a) Iad Sk $1 G § U5 & TS
B gF ¥ iR 4 & cee At A1 4 &) Ead §U TP G Y 3EHE I S AT SIS ThT o arelt fRufaar oft 3% wad e @t off b o &t B8 Tt uRy waTte T &t avg I Bt
¥ 9 us W|

AP g F RR TG AT 98 TS Sl 307 Ue W AUy I gU 7; AUy 1 Uis 39 43 gU gl W <t gs 8; 3 sl 1l Bt fiSus ®Bid R o g3 8; 98 39 &
TAR-A T T Y HAT F 3f T T 31 BT R W G O X@ e T 9§ FAWAIR FRA g A 0 5 71 x lt o o v aR, e et ofR e 7 91 §, gl g RR
I G e AR [ V| TSP $ TN THT WRGR AT| I A F 1Y HT &R DI W Bler &vr +ft g9t & Fe = 1 At o7l Ue 3R et & o ga i 16 B NEn® BEd &
I T 5 § geT faam 3R fores) frmet @ Wi Y a1 | g o R % U ot HRIR AT TR TSl SHS 3G | U ORE Bl §SSSIEC B 7 6T UT| TSP B I [ UG
I Ty Y| R ITF 77 HY oft Iguiwon & R 3 iy fmm § a1 WA &1 5 g Sl W fagR A @ R ? 98 96 IR 96 M7 SR TgadheH! HRA guR gal Siel dY G Al
3T SHR IGUION 3 31f IS iR Wee g9 T U1 BT SY Uelld §oil I WIS g1 H T 37 7 31 Tgi SRIf B1 P $& 9 1St XeT AfpH1 Jal 7 1 WedaTge &1
I HOet Bl A1 B

Q.No: 22 = A | HIF-1 Teg "3fbETd’ BT A Teg 82

A IR
B Reatsa
C FFHTH
D D

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

T BT B UGHR T T TR & Yo IFId IR A fahed BT 9 Fifon-
T T S 1 A AR @ A E,

T SR W oS Hf 7 ot @ A g

fire Sd ot i W A% R arE RRET B

T 3% 7, S el I § T S i

TR % BT e % T e S €,

Tt e & urF o w e e R,
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1 Grear U HU S TaP @ g9 g,
€ AT & ot Ifet 9 o F g9 o g

Q.No: 23 Iuad el Hfd 3T AT R @IS

A 4 Tem 81
B o arE T S 31
c S AT St de @R g9 8

D ERT BT RO IR TR B

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

P FToiY F Tgar I8 U U & Jod SFId SR ard fawed o1 9 Pifv-
a1 R 9rEe A A1 AR o A E,

gl &R W oS Hf T St F A g

fire §d S i w9 A9 R ToRE B

T 3% 8, o et i § 7 SR

R % g1 e & T e ol €,

Tl Afear ¥ ur o W g o B,

e Wieam 7T FE o wea ww g9 3,

e AT € S Tl 9 o @ g W §

Q.No: 24 Ut Ot T T ST & Uikl # e § ¥ HH-91 ScdR 82

A 3V SDHR
B Db DR
C Y PR
D I PR

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

FERT: HTAT B UgHR T T TR & G IR IR I fAwed 1 9 Fifon-
TN TA ITHA oA A AR off F AW E,

Tgol SR W e W T SRt @ A B

fore omd S i Y IR R ar RRET B

T 3 8, S et o & 7 Wi &

HarR & g e & T e o €,

! Afear ¥ ur o wR g o B,

i G U HE S Ye@! WN g9 3,

e T € S I 9 o B g 9§

Q.No: 25 F=fRIEd & § B3 & SR ST Sita M e 8, S

A Re | it TR 3 der @ g

B 2w Jar F o e TR B

c TR & SHRIPR B UG I IS A B
D W G P T4 W ofie a0 B4 3

Correct Ans : A

Subject : Hindi Bhasha 01
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Passage:

& ST ) UgaR ® T Ul & o9 Sfad IR A faded &1 99 $if-
B4l = 3gd o) 19 Ry 4 @ o g,

Tgel SR W e T SRt @ A B

fore Smd St i Y IR R ar RRET B

T 3% 8, S et o & 7 Wi &)

AR & g1 e & T e o €,

el Afear ¥ ur o w9 o B,

i G U HT S Y@ We g9 3,

e T € S I 9 o # O 9§

Q.No: 26 HETeRT “NfETTea &1 o1 fiet & F e o 32

A e YD BT
B TET-aE B
C T g

D 39 9 &7 Prer

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

& PaiY B UghR IR T U & Yo IR IR a1 fabed 1 9 -
1 T o A A AR @ A g,

ol SR R 1S o I gt @ o g

fire Sd ot i T A% R g RRET B

T I B, S el O € T SR &l

e & BT ol & TugE e S B,

et Afear ¥ ur ot w9 o g,

i Giear 77 F o TP @ g9 €,

e T € S T 9 o # gt 9§

Q.No: 27 € 7 fqufdd “,% gr1 ~ F=fif@a & @ fbw R 3t 22

A Egukarcy
B Y PRSP

C SHYHT HRS
D THIGH BRP

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FET: PTAIY B UgHR IH T TR & Yo IRId IR a1 fabed 1 9 Fifon-
W o A T AR R @ 9

ool SR R 1S o I et @ oid g

fire Sd ot i W A% R arE RRET B

T F% B, S el O € T 9o

TR % BT el % T e S €,

gt Afear F art o wre g et €,

i W ¢ HE S YT WY 9 3,
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g AT § S IRt 9% o § oS 9 7

Q.No: 28 f=fifad # ¥ ‘Ut * ST Taigar <Isg 1 82

A ReU)
B g
(o] TUHT
D e

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

1T P 1 UgaR I T U & GO Sfd SR aN fdded 1 997 Bifert-
BT 90 IHA o A ARIQT off B I E,

gl R W oS Hf T Soredt @ A g

fiye W St < w9 AR IR g RRAA By

T F% B, S el A1 TS §eRY Bt

TemaR & Ty et & TepE g o |,

et e & url ot W g o B,

e Wieam 7T F o Fea wN g9 3,

g AT § S It a9 o H o 9 7

Q.No: 29 T gy 3R elg =Rui & ARE Ud guR 7T 9 TR F TRE-TRE HET gl B
A 4 B¢

ClHCTS
C PUSR 8¢
D ghefifoeT g5

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 30 & & q BI9-91 wHwTd YIRS el 82

A Eicat)

B k)

C e )

D Y& @ TN

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 31  Which of the following is divisible by 10?

2461594
fofafad & ¥ w19 10 ¥ favrsa g2
4856789753210

A
4856789753210
5141781017116791

B
5141781017116791
9171551819071

C
917155189071
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33517819651819
D
33517819651819

Correct Ans : A

Subject : Mathematics

Q.No: 32 What should come in place of the question mark (7) in the following question?
2466900 6 . . .
(V11) x (121)% + (11)* = (11)"

Frfeatam w5 wem=e e (7) & T W = o = ?
(VI1)" x (121)% = (11)* = (11’

6
A

6

5
B

5

4
C

4
D

8

Correct Ans : B

Subject : Mathematics

Q.No: 33 The sum of ages of two boys is 40 and one is 10 years older than other. Find the age of younger in years.
2467300

T TSP BT TG BT AN 40 T 3R U GO T 10 T 9T 81 B BT Mg I & J1d BIfoR?

15
A

15

25
B

25

35
C

35

20
D

20

Correct Ans : A

Subject : Mathematics

Q.No: 34 The radius of a wheel is 21 cm. how many revolution will it make in travelling 924 m?
2467672

TP JUIBR Uiy B Bwar 21 It 71 924 M Bt A & 75 o 9w aema?
70

70
28N
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B [
350
200
C
200
700
D
700

Correct Ans : D

Subject : Mathematics

QNo:35 Ifx+2y+3z=14,2x+3y+Z=11and3x +y + 2z =11, Find (x + y + z).
2467743

I x + 2y +32=14,2x + 3y + Z=11 3R 3x + y + 2z = 11, (x + y + z) A FITI

6
A

6

5
B

5

4
C

4
D

0

Correct Ans : A

Subject : Mathematics

QNo: 36 Ifg B are the roots of the equation x? - 7x + 12 = 0, then o + B? equals to:
2467794

¢ o, pEHIEUIx2 - 7x+ 12=0F A G, dl o + B2 TR ¢

14
A

14

19
B

19

24
C

24

25
D

25

Correct Ans : D

Subject : Mathematics

Q.No: 37 The square root of 2025 is:
2467998
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2025 @1 T H -
46

A
46
45

B
45
92

C
92
82

D
82

Correct Ans : B

Subject : Mathematics

Q.No: 38 A cone 1s

2468045
WAPE___
Plane figure
A
T Sl
Curve
B
ash
Solid Figure
C
34 3Pl
Line
D
Xar

Correct Ans : C

Subject : Mathematics

Q.No: 39 The difference between the squares of two consecutive numbers is 95. Find the numbers.
2468302

Sl AN B3N & I & &9 BT 3fcR 95 T WY F1d Biforg|

29, 30
A

29, 30

25, 26
B

25, 26

24, 25
C

24, 25

47,48
D

47,48

Correct Ans : D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/51


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

7127122, 3:17 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

Subject : Mathematics

Q.No: 40 Three consecutive integers add up to 54. What is the largest integer?

2468371
0 T Uit BT AT 54 BT ¥1 W ST Uit @R 77
18
A
18
15
B
15
17
C
17
19
D
19

Correct Ans : D

Subject : Mathematics

Q.No: 41 Shalija often makes a mistake in comparing the decimal numbers. For example, 0.30 is larger than 0.3. The most probable reason

2468429
T SRR SR it &7 o dx H Tect Bl 81 IaTex0 $ oY, 0.30, 0.3 ¥ §37 81 I JHIIT BRI ... H|
Low intelligence quotient
A
o gfewn wrea
Lack of concentration
B
o B St
Misconception regarding the significance of zero in ordering decimal
(o)
TXMET & HH § I F Aed & IR B T YROT
Lack of practices after School
D

WA P TG A BT HH
Correct Ans : C

Subject : Mathematics

Q.No: 42 Which one of the following assessment strategies is best suited to assess the Mathematical creativity in learners?

2468483
Rugnffat & iR gelHIeredr & ofead & e Fufifed ¥ @ oF- geaie e Jdfor 9 § Iuga 77
Investigatory project
A
SIS URAISHT (Fsiae)
Annual examinations
B
e e
Field trips
C
&t ywor
D Olympiad examination
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Safars Tt
Correct Ans : D

Subject : Mathematics

Q.No: 43 Who said— “instructional objectives are best described in terms of the terminal behaviour expected from the learners”?
2468602

i fifea @ § a8 By f59d gRI Per T - "Rienfiial & srifé sifey suagR & Yo # M s Il &1 Jod 33T Ui fbar Sirar 82

Robert Mager

A

e TR

Robert Miller's
B

RECAER

Robert Wadra
C

e argt

Sumit Samele
D

g wad
Correct Ans : A

Subject : Mathematics

Q.No: 44 A bag contains 15 coins of 50 paise and 10 coins of 1 rupee. Find the ratio of 50p coins to 1rupee coins.
2469637

T T H 50 T F 15 ReF ok 1 I0 & 10 K5 §1 50 T & Ryaas! &1 1 S0 & Rigd! ¥ SFud 1 Siferg|

3:5
A

3:5

1:10
B

1:10

3:4
(o)

3:4

10: 3
D

10: 3

Correct Ans : C

Subject : Mathematics

Q.No: 45 Sybtract 6pq — 4p’q + Spg? — 8 from 10 — 2pg — 4p’q + 5pg?
2469856

10 — 2pq — 4p*q + 5pq? H 9 6pq — 4piq + 5pg? — § HeTd|

18 - 4pq
A

18 - 4pq

2 + 4pq
B

2 + 4pq
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(o) 18 - 8pq
18 - 8pq
2 + 8pq
D
2 + 8pq

Correct Ans : C

Subject : Mathematics

Q.No: 46  Find the greatest common factor of 20d%(d — 2)*, 10(d — 2)°, 10d(d — 2)7
2469963

20d3(d — 2)%, 10(d — 2)°, 10d(d — 2)7 1 Gad FS1 SHTME UGS F1d B

20(d - 2)
A

20(d-2)

10(d -2y
B

10(d - 2)°

20(d - 2)¢
C

20(d - 2)¢

10(d - 2)*
D

10(d - 2)*

Correct Ans : D

Subject : Mathematics

Q.No: 47 Find the values of a and b so that x4 + %3 + 8x2 + ax + b is divisible by x% — 1.
2470013

a2 b S OF JA P AN o + 33 + 82+ ax + b, 2 — 1 F AU 1

a=1b=7
A

a=1b=7

a=-1,b=7
B

a=-1,b=7

a=1b=-7
C

a=1,b=-7

a=-1,b=-9
D

a=-1,b=-9

Correct Ans : D

Subject : Mathematics

Q.No: 48 Find sub triplicate ratio of 27:8:512
2473365
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27:8:512 &1 TAEITE J1d HIoTg|

3:8:2
A

3:8:2

8:3:2
B

8:3:2

3:2:8
C

3:2:8

5:2:8
D

5:2:8

Correct Ans : C

Subject : Mathematics

Q.No: 49 The best way to expose second standard children to plane figures, its vertices and edges is:

2475382
T e & Sl DY A BT, IH Aol SR fHART T uRfyd = &1 T8 ST /el 8
A blackboard
oG]
nets of 3d solids
B 33 19 &1 9|
cubes
C q
D geo boards
UEIS

Correct Ans : D

Subject : Mathematics

Q.No: 50 What are the demerits of demonstration method?

2475586
EERE R T A
Pupil do not get chance to perform experiment
A Rt &) et 623 &7 1 168 B
It is time consuming
° TH Y I §
It is economical method
c e Pt e
D It is based on learning by doing
Tg PR YHE TR MIRG &

Correct Ans : A

Subject : Mathematics

Q.No: 51 Herbert suggested five steps for preparing a daily lesson plan. The first step is the introduction. Morrison also suggested five steps for daily lesson
2475921 plan. What is the first step suggested by Morrison? !
B A 3P UTe FIeHT IR R & R Ui wRull %1 geid fean| ugen wen uRed g1 HikGE A 2fe uie Ao 3 g ot wRor off genme Aies gRT geman m uga

HeH F1F?

Objective writing
A S

Development questions
° fora uy
C Exploration
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D Recapitulatory questions
ud

Correct Ans : C

Subject : Mathematics

Q.No: 52 A child displays difficulty in differentiating between numbers, operations and symbols, two clock hands, different coins etc. This implies that the
2476027 specific barrier affecting his learning is

TF = TReah, Tfgpaait SiR v, < u<t @t g, fafte Rygwt ot & 9 R B H BioS veRid FRa1 31 T9HT i 7% § 5 Sue e B uMifad Fa aran

fafry sray ¥
poor motor skills, reading and writing skills
A w e B, T IR e 7 e
poor verbal, visual, auditory and working memory
° TRE N, T4, 4au 3R srRiha |
poor visual processing ability i.e., visual discrimination, spatial organisation and visual coordination
¢ TG T TEWP 4T A, T WG, RIS §16 SR T2 990
D poor language processing ability i.e., expression, ‘vocabulary and auditory processing

TGRS HTST YRBRT &l a1 S, Vearaetl iR 4qur TRp ol
Correct Ans : C

Subject : Mathematics

Q.No: 53 Which two numbers should be interchanged to make the given equation correct?

2479429
9-3x4+15+6=-10
fau U TR & TE A & o fa & Gemell &1 smuy H sear ST age?
9-3x4+15+6=-10
4 and 15
A
43R 15
9 and 6
B
9 3R 6
3 and 6
c
33Re6
3 and 15
D
33k 15

Correct Ans : C

Subject : Mathematics

Q.No: 54 Learning and acquisition can be automatically attained favoured by -
2481425
1. Cognitivists

2. Behaviourists

........... BRI AT 3R SRR Y Wa: & U fbar S Feba ©
1. GG AT
2. AgRATE!

Only 1 is correct

A Fad 1 IR

Only 2 is correct

Faa 2R 7

Both 1 and 2 is correct

1 3R 23T ®

D Neither 1 nor 2

C
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TFALRAH 2

Correct Ans : A

Subject : Mathematics

Q.No: 55 A very common error observed in addition of linear expression is 5y+3=8y.

2481716
This type of error is termed as
X e & sifaled 3dt 7 U 9gd & 9 3 5y+3=8y Bl
39 YBR P e Bl BT o1l §
Clerical error

A il 47
Conceptual error

y ot R
Procedural error

¢ ST 1

) Careless error
qaRaTe Ffe

Correct Ans : B

Subject : Mathematics

Q.No: 56 DIRECTIONS: What should come in place of question mark (?) in the following question?

2481882
e Fafafea oy 8§ usare R (2) & RIF W 1 3T =1ige?
28
A
28
64
B
64
26
C
26

None of the given options

P g g famedt 3 Q g T
Correct Ans : D

Subject : Mathematics

Q.No: 57 when introducing mensuration, a teacher writes all the formulae on the board before proceeding further. This reflects that she is following the

2482393 AT B AT IR T, TF e o1 T T Uedt A W Wit wie fraar 31 g o=t & 6 95 SRy ) W §
Deductive approach
A e <Rei
Inductive approach
B
TS et
Experimental approach
C
e =B
D Practical approach

Correct Ans : A

Subject : Mathematics
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Q.No: 58 Ankur got zero marks in a word problem on linear equations in an assessment. The teacher knows that he can solve linear equations correctly. The
2482398 teacher ought to remark in his report

TH e B AP THHON R TF e TR H GR $1 A 9 et | Rieres w7 7 5 a8 30w gefiewoi &1 98t 71 Q 50 3 Govat 81 Rigres &1 a0t Raré &
fewoht - AT

Ankur has a problem in comprehending the language of the question, though he can solve the equations

A
PR BT TH BT HINT GHEH § G BN B, TP I8 THIGRUN P 5 P Bl §
Ankur lacks concentration and hence has examination phobia

° g 1 e 7t o & o Ry 9 whe i &
Ankur is not studying and practicing at home

C
IR R R IGE R Mg e @

D A_nkur has not understood the concept of linear equations completely
PR W FHlleeull Bt SauRT B G e | TE G g g

Correct Ans : A

Subject : Mathematics

Q.No: 59 The deductive method is a viable option in certain situations these can be:

R e T e
when dealing with highly motivated students
g st SR B & T TR R
teaching a particularly difficult concept
° T faRy =9 ¥ B3 @YRoT H g
for preparing students to write exams
c T ) il v  org e v & g
All of the given option
D

feT g Wit fowe
Correct Ans : D

Subject : Mathematics

Q.No: 60  Which of the following teaching methods have been developed with the help of psychology

2asarad A @1 erad § FafifEa & 9 feu Rigor vgfo o1 e faar g2
Montessory method

g i R
Project method

° el R

c Dalton method

Slee fafy

D All of the given option
few T wf fawea

Correct Ans : D

Subject : Mathematics

Q.No: 61 The curve for human population growth is:

2469534
AT SFERE gie & o o #:
Horizontal line

A
&t

B L-shaped curve
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T & PR BT G

J-shaped curve

I F AR BT Gh

Parabola curve

URqeY dsh
Correct Ans : C

Subject : Environmental Study

Q.No: 62 Which of the following is also called detrivores?

2469744
fFrafafed # 3 5 fedara o a1 o §
Herbivores
A
PTERT
Decomposer
B
3UgcH

Carnivores

C
ARETER
Omnivores
D
Yafert

Correct Ans : B

Subject : Environmental Study

Q.No: 63 The scientific study of human population is called-

2469776
HFG ST BT A7 LT D -
Demography
A
SHifbDt
Heridity
B
Sraift
statistics
C
it
Mobility
D
et

Correct Ans : A

Subject : Environmental Study

Q.No: 64 Maximum deposition of DDT will occur in-
2470146

DDT &7 SHIFT= 5o g &-

A Phytoplankton

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 20/51


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

7127122, 3:17 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
LICRRSEED
Crab
B
!
Eel
C
EG
Sea gull
D
T T

Correct Ans : D

Subject : Environmental Study

Q.No: 65 The section on ‘Do this and find out’ included in different topics in EVS text book aim at-

2470332

STy urey ges! A faft fawat & wnfirer '8 ¥ SR UaT B SFHNT BT 35T &-

Keeping the student engaged at home
A

fommff #t = A g &

Providing direct hands on experience
B

SITHT WR Y& g1 Ul &l

Improving performance in examination
C

wHem & ve=[ § guR

Learning definition of scientific terms
D

AT Teal @t afumer Fe

Correct Ans : B

Subject : Environmental Study

Q.No: 66 Which of the following interpretations represents diversity?
2470513

frffed & @ $H-3 wren [y & gufd 8

It increases discrimination among people
A

Tg qil ¥ i Agu1g TemaT §

It increases harmony among people
B

g ANl & I THETaT Il §

It accepts the uniqueness of the people.
(o)

Tg Al @t fafkigar ) Wierd &

It acknowledges inequality between people
D

g ANl & st SRHFCT P bRl &

Correct Ans : C

Subject : Environmental Study

Q.No: 67 Among the given following options which house is called floation house?
2470613
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fraffed fawad & @ frg TR 3 wiee §18Y el I 82
Stilt house

A
Raifar
Canvas

B
Fa
Igloo

C
L

House boats

ge9 §ie
Correct Ans : D

Subject : Environmental Study

Q.No: 68 Which of the following is an example of natural hazards?
2472128

fofafad & ¥ B9 Urpfad TRl BT ITe 372

Explosions,
A
e
Leakage of toxic waste
B
T B BT R
Dam failure,
C
iy Bt fawerar
Tsunamis
D
Ll

Correct Ans : D

Subject : Environmental Study

Q.No: 69 Tropical monsoon climate is found;

2472204

Surpfesdi AFYH Sy U W §;

Over the Indian sub-continent, North Eastern part of South America and Northern Australia
A

YR IUTRTEIY, Sfaor oiReT & ST qal U ofik St aifeferar o

north and south of the Amazon forest in Brazil
B

seia # SfTH & STa & SR SR afeor A

near Amazon Basin in South America, western equatorial Africa
C

faor siReT & s aRM & U, ufddt ymeRdig spieT

adjoining parts of Bolivia and Paraguay in South America
D

o @Rt # ST SR W & U ¥ W

Correct Ans : A

Subject : Environmental Study
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Q.No: 70 Discharging of all collection of watersheds into the same major body of water is referred to as a
2472307

S R! & Wt TS B U@ 8 v W e H Big 3 1 deadl o7

sewage drainage system

A
e 339 Rren
watershed
B
RS
drainage basin
(o}
et Tt AR
wetland
D
S

Correct Ans : C

Subject : Environmental Study

Q.No: 71 Eagles can see things from 20 feet away in the day due to
2472403

i 27 & 20 Wie @ q ot =il 3 @ Tt ¥

fixed eye sockets

A
fires g Wide
refraction error of the eye,
B
g P Sruad Ffe
large number of cone cells
C
TP PIIBIeH BT TSt T
Equal no of photoreceptor cells
D

TIRINGR BIRIGEH T TaH G&

Correct Ans : C

Subject : Environmental Study

Q.No: 72 The word ‘adolescence’ derived from the greek word ‘adolescere’ which mean
2472566

TSI Veg, Wb Ve 'TSIARER' I foram man & et orf §

Increase in body height

A
RN T BT TG
Malture development
B
uRued fasw
Increase in body weight
C
RIS HUR &7 T
D Development deficiency
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fapraae St

Correct Ans : A

Subject : Environmental Study

Q.No: 73 A diet which is rich in all the important nutrient is called.
2472703

@ 3ER ford 9 weayy! tive uerd Tt |, e -

Rich diet
A
W& SRR
Complete diet
B
qof SR
Balance diet
C
Feferd SR
Diet
D
3ER

Correct Ans : C

Subject : Environmental Study

Q.No: 74 Where is the Variable Energy Cyclotron Centre located in India?
2473955

YRd § uRaia Sl arEaare s wel fRid 72

Mumbai
A

f:eed

Kolkata
B

PIIPT

Delhi
C

et

Chennai
D

o

Correct Ans : B

Subject : Environmental Study

Q.No: 75 Mars Orbiter Mission (MOM) is informally called as:
2473970

o e foRM (MOM) &Y 3FT=Re =0 ¥ 1 H8T oIl 8?2

Mangalyaan

A
e
Mission water
B
o o
C Mystery Mars
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et T

Magnetic Mangal

BRE Hra
Correct Ans : A

Subject : Environmental Study

Q.No: 76 Which nation has recently announced a successful test of its most powerful launcher to date the “Zoljanah”?
2474114

g 3w 7 g1 € F Srun Tad WG dieR "SierSIFT" & Gihe R St Giwun @1 82

Iraq
A

RH

Iran
B

/A

Lebanon
C

SEEIG]

Dubai
D

T

Correct Ans : B

Subject : Environmental Study

Q.No: 77 Which of the following is the name of the first indigenously built aircraft carrier of India?
2474152

frafafed & & o1 WRa F vea W M faamaes a &1 W 82

INS Vikrant

A
1.0, 79, fwpia
INS Arihant

B
1E.T.79. 3ifkga
INS Arighat

C
7. TA.T9. 3R
INS Vikram

D
7. 0.9, fawn

Correct Ans : A

Subject : Environmental Study

Q.No: 78 Including India, how many countries have the capability of exploring underwater vehicles for carrying out subsea activities?
2474159

YRd Tfed, fra 3= & Iu-wud) mRfRRT B oiemy 3 & e urh & R % areel 3 W B T & 82

4
A

4
B 5
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5
6

C
6
7

D
7

Correct Ans : C

Subject : Environmental Study

Q.No: 79 In which of the following places is the Indian Deep Space Network (ISDN) located?
2474180

YR e SfaRe Fead (3E.€Lew.TH.) Pl # 9§ e wim w @ g2

Byalalu
A
ey
Vedaranyam
B
JeRvEH
Kulathur
C
payd
Veppanthattai
D
g

Correct Ans : A

Subject : Environmental Study

Q.No: 80 Which of the following soils is permanently frozen?
2475679

fafefed & & $i7 @ frd) =l wu & ot g€ @2

Gelisols
A

Sferde

histosols
B

feeire

Andisols
C

LRI

spodosols
D

R ISIEI

Correct Ans : A

Subject : Environmental Study

Q.No: 81 A is a soil scientist who specializes in a branch of soil science that is concerned with identification, formation, and distribution of soils. Fill in
2475923 the plank.

TH_ TS Y&l a{e § o Hal fOuH &) e e B faRiesiar Yed § S gl 3 uga, e iR faarur § WEia 71 Red =im W
Soil Enaineer
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A et g
T siftrdar
Soil Edaphologist
B
a1 Refag
Soil pedologist
C
e farit
Soil officer
D
a1 e

Correct Ans : C

Subject : Environmental Study

Q.No: 82 Which animal is used for the game of polo?
2476464

Tl & Td & e {59 TR &1 IuanT e S g2

Horse
A

gt

Bull
B

g

Cow
C

™

Cocks
D

o

Correct Ans : A

Subject : Environmental Study

Q.No: 83 Aishwarya Qil Fields is located in which district of Rajasthan?
2476495

Yyl sifaet Wies, oM & g R & Ryd 82

Barmer
A

TSR

Jaisalmer
B

EEREN

Bikaner
C

derR

Udaipur
D

JAR

Correct Ans : A

Subject : Environmental Study
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Q.No: 84 Which festival in Himachal Pradesh is celebrated every year?
2476594

feurae uew & B 1 ER & I1d 17-23 ATE b F1T oIl 82

Nalwari melas

A
TR Fell
Pir Budhan mela
B
R geF Ber
Bhoj Mela
C
ot A
Hemim mela
D

Bffm A

Correct Ans : A

Subject : Environmental Study

Q.No: 85 Knowledge through peer based communication is related to:
2477294

Tepul SneTd TR & AT I J frg § Teifda 22

Rapid questions

A
st & wy
Society method
B
T fafy
Teacher’s knowledge
C
Rueres &1 9
Small group discussions
D

B g ¥ uRem=f
Correct Ans : D

Subject : Environmental Study

Q.No: 86 Group discussions make it possible for children to think for___ solution.
2477298
TETEiaa s M Ty & RN e I9d SR 8
Never ending
A
Fft 7 & T A
Far from land
B
SETfas
Out of the box
C
3 W
Ineffective
D
STt
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Correct Ans : C

Subject : Environmental Study

Q.No: 87 A brief oral feedback after the visit may be taken:

2477346
YU & 916 U Wiend A ufafear o o e §:
On the spot only
A
FIA YA R R
Never
B
K
Only After the group reach school
C
Fad g & T U & 96
Can be taken on the spot or after reaching school
D

1 A YA WA TR U1 GG P T Uga P 9G
Correct Ans : D

Subject : Environmental Study

Q.No: 88 What is Biodiversity?

2477798

ECACICENIC IR

A branch of biology that deals with the diversity in human beings only
A

W T 3 v 2 S Faa e § Rfdea & Sl 7

A branch of biology that deals with the diversity in plants only
B

it a9 Bt v T St Haa W F ffdear & deifa @

A concept that explains diversity in human beings
C

TS YR S TG ¥ fafderan #t arem widt §

Variety of organisms existing on the earth, their interrelationships and their relationship with the environment
D

Tt W A Sl 31 [fauar, 3% siadey iR TaiaRr & WYy 3% Jay

Correct Ans : D

Subject : Environmental Study

Q.No: 89 Which of the following is a Non-Projected visual three-dimensional TLM (Teaching Learning Material)?

2478689
frafafed & 3 o1 wo smafia - Remmd exa d.ua.uw. (st sftvm anwf) 32
Gramophone records
A
THRIBH RS
Programmed material or SLM
B
W e Fdt
Graphs
C
Pl
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D Diorama
SR (B wexh)

Correct Ans : D

Subject : Environmental Study

Q.No: 90 Periodicity means evaluation of performance of learners should be done frequently at the end of every unit or term. This is also known as which of the
2478724 following?

fraftemar &1 o B o5 Ui 3oTs a1 oraf & ofd & Rienffel & vl o1 geui aR-aR forar 9 anfew 9 g & 9 forwds 9 ¥ off S S 22

Placement Evaluation

A

R Hedich T

Formative Evaluation
B

Executive Evaluation
C

PRIGRT YedichT

Summative Evaluation
D

TS Hid
Correct Ans : D

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 91 Which of the following is the most suitable title for the given poem?

A Caution and Passion

B Unbearable Love

C Death by Chance

D A Naughty Little Comet

Correct Ans : D

Subject : English Language 02
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Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 92 ‘She loved to wander out at night and jump about and play’. What does the word ‘she’ denote here in the given line of the poem?

A comet

B the speaker
C mother

D the moon

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 93 ‘She used to scold her reckless child for venturing out too far’. What does the word ‘scold’ mean in the given line?

A cause to accept or become hardened to
B tending to obstruct or cause harm

(o) speak to someone angrily

D necessary as a duty or responsibility

Correct Ans : C

Subject : English Language 02
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Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 94 Which of the following is opposite in meaning to the word ‘cautious’ in the poem?

A wise

B clever

(o} negligent
D politic

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 95 ‘She said there was no fun in life unless you ventured out’. Which part of speech is the word ‘unless’ in the given line?

A conjunction
B preposition
C adverb

D adjective
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Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 96 Why does the poet call the comet foolish in the given poem?

A because the poet wants to create a metaphor

B because the comet became very bigger

(o] because the comet didn’t show any caution and showed the tail to the sun
D because the poet didn‘t like it much so he calls it foolish

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 97 Where did the little comet live, according to the given poem?
A near the moon

B near the sun
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(o) near the galaxy
D near the earth

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 98 How were the victims carried out in the Holocaust by the German Army?

A in pogroms and mass shootings

B in only deportation

C they were hanged one by one each day
D None of the given options

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 99 What was the policy called in concentration camps for killing people?

A a policy of extermination through labour

a nalirv Af chantina
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C a policy of mass murder
D a policy of deportation

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 100 The Nazi regime built a network of concentration camps in Germany. Which of the following was the first one out of them?

A Dachau

B Auschwitz-Birkenau
C Chetmno

D Belzec

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 101 Which of the following is NOT correct according to the given passage?

t+ha Fnahlina Art nava Hitlar Airtatarial nlanarvy naware
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B after Germany annexed Austria, Jewish businesses and other buildings were ransacked

the segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish

C
Question

D Invasion of Poland triggered World War I
Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 102 ‘Nazi Germany and its collaborators systematically murdered around six million Jews’. Which part of speech is the word ‘systematically’ in the given

line?
A adjective
B adverb
C preposition
D noun

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 36/51


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

7127122, 3:17 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

Q.No: 103 ‘Thousands of camps and other detention sites were established across German-occupied Europe’. Which part of speech is the word ‘across’ in the

given line?
A adverb
B determiner
(o] preposition
D conjunction

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 104 ‘Victims were being deported from ghettos across’. Which of the following is nearest ‘deport’ in the given line?

A expel

B take in
C merge
D permit

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
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being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 105 ‘Germany implemented the persecution in stages’. Which part of speech is the word ‘persecution’ in the given line?

A verb

B adjective

C noun

D determiner

Correct Ans : C

Subject : English Language 02

Q.No: 106 How a process writing approach can be described?

A horizontal approach
B top down approach
(o} bottom up approach
D vertical approach

Correct Ans : C

Subject : English Language 02

Q.No: 107 Aspect of effective language classroom is to provide learners with an opportunity to —

A interaction
B assessment
C imitation

D interference

Correct Ans : A

Subject : English Language 02

Q.No: 108 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

The post office is just right there around the corner. It takes five minutes foot to get there.
A at
B on
C with
D in

Correct Ans : B

Subject : English Language 02

Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

She has the most two-year-old girl.
A admire
B beauty
C adorable
D taller

Correct Ans : C

Subject : English Language 02

Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

We don’t need tactics for marketing.

A amuse

annnv
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B g
C brightly
D aggressive

Correct Ans : D

Subject : English Language 02

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

The cat jumped the counter.
A off
B into
C of
D with

Correct Ans : A

Subject : English Language 02

Q.No: 112 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

It was very not to call us and say you'd be late.
stupidity
thoughtless

foolishness

o 0o w >

surprise
Correct Ans : B

Subject : English Language 02

Q.No: 113 Who among the following gave the cognitive theory of language learning?

A Piaget
B Vygotsky
C Chomsky
D Paviov

Correct Ans : A

Subject : English Language 02

Q.No: 114 What are the factors, which affect learning?

A Learner’s disinterest

B Non-availability of study materials and resources
C Un-conducive environment

D All of the given options

Correct Ans : D

Subject : English Language 02

Q.No: 115 The term “Critical listening” means ................

A to evaluate a message and respond with their opinion
B to listen to learn something

C to use appropriate vocabulary and language

D All of the given options

Correct Ans : A

Subject : English Language 02

Q.No: 116 What is “Decorum” in spoken language?

A A Principle of classical rhetoric
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B Appropriate gestures
C Prescribed limits of appropriate social behaviour
D All of the given options

Correct Ans : D

Subject : English Language 02

Q.No: 117 1India is a land of Diversity because of.......?

A culture

B food

C language

D all of the given options

Correct Ans : D

Subject : English Language 02

Q.No: 118 Which of the following is not a visual aid?

A Chalk, blackboard, and duster

B Flash cards and charts

(o) Projector, radio and audio tapes and CDs
D Flashcards and soft board

Correct Ans : C

Subject : English Language 02

Q.No: 119 Which of the following was recommended by the Kothari commission, 1966 with respect to lower primary level (Classes 1-4)?

A Three languages

B Two languages- regional and national

C Two languages- modern Indian language and classical or foreign language
D One language- regional

Correct Ans : D

Subject : English Language 02

Q.No: 120 Which of the following statements is not true with respect to remedial teaching?

A Remedial teaching is a pre-teaching process that facilitates the teacher in diagnosing learner's difficulties
B Remedial teaching is a re-teaching process that removes pupils ' learning distortions

C Remedial teaching programs help the students to realize their full potential.

D Remedial teaching follows diagnostic testing.

Correct Ans : A

Subject : English Language 02

Q.No: 121 There are steps of relation of the process of socialization.
2473671
TSRO B TfhaT BT WY ..o, e Uel ¥ 7
Two
A
@
Four
B
IR
Eleven
C
RS
D Three
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Correct Ans : D

Subject : Child Developement

Q.No: 122 The main purpose of conducting a diagnostic test is for identifying

2474328
AT T T BTG T o %! Rifgd &1 g B
the general area of weakness in the performance of the class
A
FeT e H T HEeN & &
the specific nature of remedial programme needed
B
IS SUIRTAS BT Ft IR vl
the causes underlying academic difficulties
C
IPTETHS W & WS & HROT
the specific nature of student difficulties
D

BE @1 R Bt RARE el

Correct Ans : C

Subject : Child Developement

Q.No: 123 Of the following, the most promising step for a teacher to take in order to improve class discipline is to

2474377
FrafeiEd & & $, e & S F GUR & g Rigis FRT ISTT ST ITeT T SARASHS bed &:
Note specific infractions of class rules in the marking book
A
T GfKTeT & T & o & fafkis Iecred! i i o
Evaluate his/her materials, methods and approaches to children
B
it ot anEh, [y SR e F1 geied S
Consult the class and agree upon a graduated series of punishments
C
HeT I WHE B IR g3 BT Aofieg JEar W Tgud
Call a parent - teacher meeting to discuss the situation
D

Trar-faT Bt gaTl- Rigrs B 3T Aaex Rufa ot =i =

Correct Ans : B

Subject : Child Developement

Q.No: 124 Match and choose the pattern of emotional development that a child exhibits
2474471

TP I= gR1 USRI UIaTeTed G & de &) Jaftra SR 3R =a= Fifom-

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 41/51


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

7127122, 3:17 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

1-d, 2-f, 3-b, 4-e, 5-a, 6-c

A
1-d, 2-f, 3-b, 4-e, 5-a, 6-c
1-d, 2-e, 3-a, 4-f, 5-c, 6-b
B
1-d, 2-e, 3-a, 4-f, 5-c, 6-b
1-e, 2-f, 3-d, 4-c, 5-b, 6-a
C
1-e, 2-f, 3-d, 4-c, 5-b, 6-a
1-f, 2-d, 3-d, 4-f, 5-b, 6-c
D

1-f, 2-d, 3-d, 4-f, 5-b, 6-c
Correct Ans : B

Subject : Child Developement

Q.No: 125 The purpose of new education policy is-

2474630

5 g A 71 32w B-

to provide equal opportunity of education to all
A

o o1 e ST THE TR YeH S

to improve the whole education system
B

ot Ria aw $Y GURAT

to link the education with employment
C

fRie @Y AR F g

to delink the degree with education
D

f&tit 1 Ruen § sigT

Correct Ans : B

Subject : Child Developement

Q.No: 126 The term, “development tasks” is given by..

2474656

Kohlberg
A

Higaa

Vygotsky
B

Eleyi sl
C Piaget
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s
Havighurst
D
e

Correct Ans : D

Subject : Child Developement

Q.No: 127 Assertions (A): The early stage of adolescent development is also known as pubertal period.

2475328 Reason (R): The term puberty is derived from the Latin word ‘puberatos’ which means the age of manhood.
St (A): TR I & IR fRUfd & garawn & T F of 1 S 21
PR (R): T Teg AfeH Weg "EaRer § foran a1 § ot orf B gewa @t 391
Both A and R are true and R is the correct explanation of A

A
A 3R R 31 9 ¥ 3R R A BT L) 18 Hell §
A is true, but R is not the correct explanation of A

B
A T g, AMfFT R, A ) e e ¢ a1 §
A is true, but R is false

C
ATIR, APTRYS R
A is false but R is true

D

ATPRAPTIRTT®
Correct Ans : B

Subject : Child Developement

Q.No: 128 Conscious, unconscious and repression of memories are important aspect of

2476175
T, 3 3R WfadT H1 g Ayl ugd &
theory of personality dynamic
A
i et (AR SEAfe) o1 fRigia
theory of structure of personality
B
i E= 1 Rigia
theory of psycho sexual development
C
e Jagerd e o1 R
theory of social behavior
D

[T SR T Rigia

Correct Ans : A

Subject : Child Developement

Q.No: 129 To increase the teaching-learning level of the children, which of the following qualities should the teachers NOT possess?
2476901

= & Riar- it R H1 IgH & i Rae! # Frafared # F S1F-31 701 161 811 =few?

Positive behaviour

FHRIHD TAER
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B Strict outlook
YPRIAD HIGR

Communication ability

TER &wdl

Good subject knowledge

3T fawg I
Correct Ans : B

Subject : Child Developement

Q.No: 130 Which fact is NOT essential in creating a suitable environment for the students in school?
2476903

1. Motivation by the teachers

2. Grand school building

Choose the correct code -

B T 7 forener & BE & R Suge ey §9H & g Fewyyf et 82
1. et g IRoM

2. Yoq faemerd wad

T IS I -

Only 1

Fad 1

Only 2

Fad 2

Both 1 and 2

Ml 1 3R 2

Neither 1 nor 2

a1 eiRAE2

Correct Ans : A

Subject : Child Developement

Q.No: 131 Which of the following is only a means to an end and therefore, not as effective Intrinsic motivation

2476991

Frofafed & 9 S5 1 d5a Wit ST 9 0 § 9k SUfer Ia wurdt 7 ¥

Intrinsic motivation
A

TRy SRR

Extrinsic motivation
B

T SiftviRn

Intrinsic maturation
C

e afaedr

Extrinsic maturation
D

e aRusar
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Correct Ans : B

Subject : Child Developement

Q.No: 132 Ram is the head of the college dramatics team and he is working hard to win this year’s best actor award trophy. Which of the following is correct?

2477057

T FH e F T § AR 8 39 W B T SRR TR @ 2 o & Ry o) feTd R 2 1 e A A 3 @ I 2

He is Intrinsically motivated
A

T8 Sfiaie w9 4 IRka §

He is Extrinsically motivated
B

wAEI FIIMA

He is Intrinsically matured
C

T3 SfaRe w9 3 wRus §

He is Extrinsically matured
D

98 91 ¥ Q TRuS §

Correct Ans : B

Subject : Child Developement

Q.No: 133 As for management approaches for behaviour disorder, pharmacotherapeutic therapy can manage:

2477630
FGER fABR & Tt & =B F o, mrafeRygfes Rt fbgewT g6t H= Jod 2
Social skill
A
IR BRI
Life skill
B
Site 1
Inattention
C
SRATaY
Self awareness
D

3TH GRSl
Correct Ans : C

Subject : Child Developement

Q.No: 134 Who out of the following in their studies observed that “the epidemic of substance abuse among the young children in India in schools and
2477705 colleges resulting in changing cultural values, increasing economic stress cannot be ignored”?

Froffed & 9 f5aa o srerga § 31 5 "uURa § et ok Siael J BIC 9= & dF Hed Soit & 9ad 3t HgMR & URUERGRT Ai@iad Jedl § 9eard, ged
e TG BT FoRSE eI fomar o Fohar 32

KR B. K. Reddy and A. Biswas, 2013

A
PR & F. P AR T ff@w, 2013
C. Sharma and A. Kant, 2009

B
ot 7w 3R T. Hid, 2009

C D. R. Dutt and P. C. Dev, 2017
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2. oR. o9 R o, #. I, 2017
G. B. N. Rao and H. Yadav, 2006

Sit. T, 39 3R TE. Teq, 2006
Correct Ans : A

Subject : Child Developement

Q.No: 135 Which of the following types of learning difficulties can be attributed to problems in doing mathematical operations?

2478367
Frafefed # 3 5w yoR 31 den @ HfoTal o i dibarst Bt o 7 gt F g SR sem s ¥ 82
Dyslexia
A
SqYS
Dyscalculia
B
feasapim
Dyspraxia
C
gfsear
Dysgraphia
D
fewmmftean

Correct Ans : B

Subject : Child Developement

Q.No: 136 Which of the following type/s of education system considers placement of children with disabilities in the regular school?
2478385

i)Integrated education

i) Inclusive education

Choose the correct code

Frafafed # 9 frg TeR 3 e uouneh § fawar st o fFafi o § W R @R e e g2
i) TP RI&m

ii) TR fem

e BIS gH

i) only

Fad i

if) only

Fad i
both i) and ii)

Ml i SR i

Neither i) nor ii)

TAdi RIS
Correct Ans : C

Subject : Child Developement

Q.No: 137 Piaget defined as the cognitive process of fitting new information into existing cognitive schemas.
2479180
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R & A IS S E TS THeR B e S 3 SRHIeE Uihar & v § oy
Assimilation
A

L cRif

Egoism
B

EHT

Accommodation
C

Ao

Heredity
D

ERIUIG]

Correct Ans : A

Subject : Child Developement

Q.No: 138 Which of the following statement is correct regarding Conventional level of Kohlberg’s theory?

2479286

Frawt & Rigid & RS TR F Yoy H Faffed ¥ 3 o9 o Fu= 98 82

People take decisions about right and wrong based on their needs and desires.
A

T SO+t SRl SR TBTSR F YR W W IR Terd & IR # vfa A B

People do judgment based on socially expected rules, norms, rituals, rule of law, loyalty towards nation and so on.
B

T S w9 ¥ et e, AFdS), srEHl, FH & W, Wy & ula ST of & smuR w fAvfa A )

People think beyond all personal, social, and legal dimensions and think largely about humanity.
C

AR it SfRET, AT SR PR ST ¥ W W € #iR 98 TR W Aadr $ IR ¥ 9 g

People's judgment is based on their requirements.
D

it 1 Fofa ST Srazaearell W ameid g g

Correct Ans : B

Subject : Child Developement

Q.No: 139 The Theory of learning emphasizes that the behavior begins with and and new behaviors result from the acquisition of
2479319 ey bonds through experience.

TR BT RYgid 39 910 W SR &1 § b saer 3R = g1 € 3R 1Y SHEER 3(Ha & HIEH F Y ge & SATATEU & URUTHERY €d B
Conditioned reflexes, Observation
A
AR FOT, SHaeiiart
Conditioned reflexes, natural responses
B
IR WS, T Sffbang
Observation, Imitation
C
AP, TP
Imitation, Insight
D

SR, A
Correct Ans : B

Subject : Child Developement
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Q.No: 140 Which of the following is a part of the Law of Associative Shifting given by Thorndike?

2479362
Frafafea & I 319 uriss® gr1 fau g e ufvadd & o @1 0 Wi 82
When any conduction unit is ready to conduct, for it to do so is satisfying.
A
9 IS Yag 3T Uae b o FAR Bt B I P R g B W B 31
Repeated exercising of a response strengthens its connection with the stimulus and disuse weakens it.
B
Higw 3! 3501 B IR-9R <Ie 9 o 98 e guTERel Ud Rl 1 S | 30T 99 & el fieyd 81 I g
The learner’s response is moved from one stimulus to another in respect to the basic or associative stimulus.
C
HftrT 3 uRFRufR T 2 < e st firar & ay gERT Sifter o e o wwar 8
A person varies or changes his/her response till an appropriate behavior is
succeeded.
D

TP UG TIER AHd 81 0 TP Al 3o+t ufafehar seaar wgar 31
Correct Ans : C

Subject : Child Developement

Q.No: 141 Progressive education puts children at the of education.
2479589
TRt Rien st e & R & §
Centre
A
L
Corner
B
A
Top
C
i
Bottom
D
RG]

Correct Ans : A

Subject : Child Developement

Q.No: 142 Which of the following is not associated with Rousseau regarding progressive education?
2479635

yifaefie fren & ey A Fafifed ¥ 3 S w0 3 J&ta =6 72

Rousseau criticized the formal education system.

A

F ¥ e Riam yoneh Ft sieie Ft

Education should be in close proximity to nature.
B

e wpfa & Fee B+ =lRT

Role of children is that of a facilitator who totally depends on the teacher for education.
C

e Bt YfiPT T TR B Sl & S Rign & R ot we § R Rk dar g

FEduratinn chnuld haln a Fhild +n Adavalan a chiald anainct cnrial avile
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Ren & 1@ I $ IS R4l & AE 0@ e fasiia B3 & Aeg S gy

Correct Ans : C

Subject : Child Developement

Q.No: 143 Who was the author of “Bobo doll” studies?
2479882

“Sie ST ST P AW B A?

Albert Bandura

A

et dgu

Albert Pinto
B

st ey

Masak Bandura
C

P S

Penelopy Alvarez
D

et Sfeant

Correct Ans : A

Subject : Child Developement

Q.No: 144 Which of the following helps in making predictions about behaviour?
2479917

Fufafad & ¥ $9 gaeR & IR § gaigae @ § Aee SRl 82

Intention
A

al

Motive
B

SRS

will
C

T

Drive
D

LRI

Correct Ans : B

Subject : Child Developement

Q.No: 145 is associated with factors such as punishment.
2479940

GOSN BRI A ST B

Intrinsic Motivation

ey SR

External Motivation

e SR
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C Intrinsic Drive
o it

External Drive

EIR IR R
Correct Ans : B

Subject : Child Developement

Q.No: 146 is a part of limbic system, responsible for emotional control and involves formation of emotional memories.
2479979

IUTHENT TR BT Th YT & Sl GATIeTss (g0 & e IeRerh & qur Samers wiadt & Foior & sfafffa 21

Thalamus
A

G

Amygdala
B

TegfEST

Hypothalamus
C

3adas

Cortex
D

qHe

Correct Ans : B

Subject : Child Developement

Q.No: 147 Which of the following principles of development was given prime importance by the Psychologists?

2480359
TS gRT e & Fafifed & 9 $1F-3 Rigid g mea far m ur?
The principle of continuity
A
e &1 Rigia
The principle of uniform pattern
B
THA v @1 Rigia
The principle of integration
C
T Bl g
The principle of individual difference
D

e faftmear &1 Rigia

Correct Ans : D

Subject : Child Developement

Q.No: 148 Teacher can change the learning environment in the classroom to address gifted and talented students by: -
2480744

s SR faummel ot &) ST HX &g e [Fud gR1 Hal & ST JIaIeR0 & 9ad JHdl 3

Reprimanding them often for being restless

3fR g 3¢ S8 URI: Sieax
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B Using activities that students can complete with full supervision.

I oAl &1 IuERT BT RIS B T AR & WY O R T §

choosing what they want to work on at least part of the time

A 1 R F Y & gHan R T 1 A1 9159 ©

All of the given options

few T i fawer

Correct Ans : C

Subject : Child Developement

Q.No: 149 By making use of the formula of IQ given by Stern, which of the following ranges of IQ is said to be the gifted/genius?

2480813
T gR1 R R YAl & G &1 IuanT v, Ffgal B e § 3 few e o ufaureie w1 o 82
110 and above
A
110 IR FW
120 and above
B
120 3R FWR
140 and above
c
140 3R IR
160 and above
D

160 3R FWR
Correct Ans : B

Subject : Child Developement

Q.No: 150 Children begin to develop an understanding of themselves as separate and distinct from the environment, causality, time and space in which stage of
2482187 (ognitive development?

ST BN & 58 W0 A 5= Jiarvr, HRUMI, T R RHwM ¥ gus iR IRy wd ot gag e w1 TRy 3R 3 82

Sensorimotor

A
RECIERED
Pre-operational
B
d-ufsrares
Concrete operational
C
3N Hipare®
Formal operational
D

Muaie Hipaeres
Correct Ans : A

Subject : Child Developement
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